Mathematics Form 1
Algebraic Expressions Practice 1

1.

State the number of terms in the

expression

2x + 5y —8z + 10
A 3

B. 4

For the given term 2xyz,
state the coefficient of x.
A 2

B. 2y

c. 2z

D. 2yz

For the given term % i

state the coefficient of x.
A 2y

B %
2

For the given term 2x,

determine the like terms.

A. 3x

B. —4x

C. 5x2
1

D. Ex

For the given term 2xy ,
determine the like terms.
A. 5x

B. 6y

C. Txy

D. —8yx

Simplify 2x + 8x — 4x
A. —6x

B. 6x

C. 8x
D. 14x

Simplify 2x — 10x — 4x
A, —12x

B. —4x
C. 4x
D. 12x

10.

11.

12.

13.

Simplify 12x + (—8x) + (—6x)
A, —12x

B. —2x

C. 2x

D. 10x

Simplify 5x + (—12x) — (—3x)
A, 4x

B. —4x
C. 10x
D. 20x

Simplify

(5x — 4y + 22) + (2x — 2y — 52)
Tx=-2y—-7z

B. 7x—2y+ 3z

C 7x+2y—3z

D. 7x—6y—3z

>

Simplify

(5x — 4y + 2z) — (2x — 2y — 5z)
3x—-2y—72

B. 3x—2y~—72

C. 3x—6y-—3z

D. 3x—-2y+7z

>

Simplify

2(5x — 4y + 22) + 3(2x — 2y — 5z)
A. 16x — 14y + 11z

B. 16x— 14y — 11z

C. 16x+ 2y + 19z

D. A6 —2y +192

Simplify

2(5x — 4y + 2z) — 3(2x — 2y — 5z)
A 4x—14y — 11z

B. 16x—2y+ 11z

C. 4x—2y+19z

D. 4x+2y+ 19z
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14.

15.

16.

17.

18.

19.

Simplify (2a)(4a?)
A, 6a?

B. 8a®

C. 8a°

D. 8a*

Simplify (2ab?)(—3ab?)
6ab’

6a’h®

—6a’b®

—6ab®

o0OwmpP

. 8a’
Simplify P
A. 4a
B. 4a®
C. 4a*

D. 16a*
Rl 8a
Simplify a’
A.

B
C:
D
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... Ba
Simplify TS
bZ
4ab?
4a’b*
4b?

o oo

oy 22D7)(-32b%)
R b

A. 6ab*
__3a2b3

2
3ab*
C' —
2

3ab*
2

B.

20.

Sim

plify

3aZb3

_ (2ab?c)(—3ab?)
—4a’b?ct
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